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1. PRAMEE
(1) FRAHR
WA BN O I KN 31T 2 BRET AL Y 5 64 iR
(JTJ11:56 Hug, 119 : SR

(2) FHENRE
« KB K OEE ORUR Y E IR EE ('S 74 (Cs134, Cs137) %) O E
KB K OVER B R Bt AT 5 0 SR BRI (JT) 1 3055) O TR D HUR MW E D R B e OVZE
AR =R OB E

2. i TR (3, ORI ATRIAIERS B C¥H24 26 H-7H | % XH23 410 A))
(1) AKE (B TBRME: 1 Bg/L)
Cs134+Cs137 EHSIZBWTREH Gk 2RIZBWTRKRH)

<HEZE>
BT AETEICE SRS, IR % OBUS B E (BOBK) (CFERR244E3 H 15 B R AR J7 B8 5 7R 55 1305)
B 4 (Cs134, Cs137 A1) :10Ba/kg

B K P OIS E AR5 BAZAE (KB sk O B B AR E) CER244E3 H 5 B AFIHEEK F030555 1 584
B8 R R SR K TE R R A )
HEES ™ A (Cs134, Cs137 &3F) :10Bq/kg



(2) J&E (BH FIRE: 10 Ba/ ke(HZIE))
BROIRPLE LTI, I I < KPR ES IZE 42 500~1,000Bq/kg FEEELL R THY
FIZWTHER L T o,

(I

Cs134+Cs137 AMiH ~ 1,780 Ba/ ke(#ie) (¢ 10 ~ 450 Ba/kg(FLIE))
(T5A 3 - 7K P )

Cs134+Cs137 :11 ~ 4,100 Ba/ kg(#zi8) CG¥3% AR ~ 4,400 Bq/keg(HLiE))

<HBZ> EEEY T AREZE(500Bg/kg) OHLEEL () UL ATEIRE

500 501 1,001 1,501 2,001 2,501 3,000

I -1,000 -1,500 -2,000 -2,500 -3,000 VS
1] 53(49) 1(0) 1(0) 1(0) 0(0) 0(0) 0(0)
1A - 7K 5 3(5) 3(1) 1(0) 0(0) 0(0) 0(1) 1(1)

(3) JEiOBREE  (Fe i TFRAE: 10 Ba/ kg(Hz))
(T)11)
Cs134+Cs137 :25 ~ 32,000 Bq/ kg(§z) (3% 13 ~ 13,300 Bq/ ke(#z))
ZEIHRE: 0.06 ~ 0.86u Sv/h
(I8 « A HE)
Cs134+Cs137 : 94 ~ 4,700 Bq/ kg(§z) (3%3% 250 ~ 3,400 Bq/ ke(#2))
ZefRE: 0.08 ~ 0.56 u Sv/h

(FEHIAIAL)
(Htz [ 5177%)

S I T BRI AR ISR )T, BEGRIRRE SFR B2 ATV Mikfee RIS, D11 819 5 DK
L EESISRB D B Y E ORI E &2 F i (1~34 A /18))



(Rl

OFlll XBE=RITREHE—E ]
DRI = KB s N &1 ___ BORTEDEIRE Ba/L
No Kk Hh HHT R BRIRA PN m BOKGR | ZUE |[BREEE]  SS WE [EtEErE] BONTEEV T A (e

) ™ m cm mS/m mg/L £ [-131 Cs—134 Cs—137
1 Sl T 8H29H 5 0.2 0.0 >100 16 <1 0 <1 <1 <1
AR )1 " AR 9/ 18H % 0.6 0.0 >100 19 <1 0 <1 <1 <1
2 [ELELS 9H10H i 0.4 0.0 >100 15 <1 0 <1 <1 <1
3 e RERS] | i R AT RN 9H 100 i 0.2 0.0 >100 2 a 0 a a a
4 Bl )& - 9 10H 5 0.2 0.0 >100 3 2 1 &l &l &l
SHIH 5 0.2 0.0 >100 20 <1 1 <1 <1 <1
5 IREC)I | R Iz T SH21H 5 0.2 0.0 >100 19 <1 0 <1 <1 <1
A 9H24H = 0.3 0.0 >100 18 1 1 <1 <1 <1
6 R | RS T 9H10H B 0.1 0.0 >100 2 <1 0 <1 4 <1
7 EV 1 H AR - 9H10H 5 0.4 0.0 >100 1 1 1 <1 <1 <1
- 8HI1H IR 0.4 0.0 >100 25 1 0 <1 <1 <1
8 K IHE 8H21H i 0.5 0.0 >100 13 <1 1 <1 <1 <1
9H25H = 0.6 0.0 95 34 2 1 <1 <1 <1
8HI1H i 0.2 0.0 >100 16 <1 1 <1 <1 <1
9 i ARE)I | B 8H22H = 0.1 0.0 >100 15 <1 1 <1 <1 <1
K HE T 9A25H = 0.2 0.0 97 16 2 1 <1 <1 <1
8HI1H 5 0.4 0.0 >100 11 1 1 <1 <1 <1
10 RN R 8H22H = 0.3 0.0 >100 10 <1 1 <1 <1 <1
9A25H = 0.7 0.0 >100 10 3 1 <1 <1 <1
11 R |FHEIE 9H4H = 0.4 0.0 >100 13 <1 0 <1 <1 <1
12 Sl EAHE 9H4H = 0.5 0.0 >100 18 <1 0 <1 <1 <1
8H29H 5 0.2 0.0 >100 23 <1 1 <1 <1 <1
13 A 5 DR AR 9 18H 5 0.3 0.0 97 26 3 1 <1 <1 <1
14 G 9H4H = 0.6 0.0 >100 20 2 1 <1 <1 <1
15 =) e A 9H4H = 0.4 0.0 >100 18 2 1 <1 <1 <1
- SHILH 5 0.3 0.0 59 16 1 1 <1 <1 <1
16 G A 8H22H [ 0.6 0.0 >100 16 <1 1 <1 <1 <1
9A25H = 0.2 0.0 >100 17 1 1 <1 <1 <1
8HI1H i 0.2 0.0 >100 16 <1 1 <1 <1 <1
17 7K ARE)I | B AR EHE 8H22H [ 0.3 0.0 >100 10 1 1 <1 <1 <1
S E) 1T 9A25H = 0.3 0.0 >100 18 1 1 <1 <1 <1
7H31H i 0.5 0.0 >100 11 <1 1 <1 <1 <1
18 RN | EAAE 8H22H [ 0.1 0.0 >100 11 <1 0 <1 <1 <1
9A25H = 0.5 0.0 90 11 2 1 <1 <1 <1
19 | tetE YR 9H4H 58 0.5 0.0 >100 7 <1 0 <1 <1 <1
20 JTE G <o 9H4H [ 0.4 0.0 >100 12 <1 1 <1 <1 <1
21 % Al H HiE PN 9H4H T 0.3 0.0 82 11 2 1 <1 <1 <1
22 " JUAG <bii 9H4H B 0.5 0.0 >100 13 <1 1 <1 <1 <1
7H31H 5 0.5 0.0 72 14 2 1 <1 <1 <1
23 sl m) F 8H22H B 0.2 0.0 >100 17 <1 1 <1 <1 <1
1 o e 2 2 5 s
24 ]l R/ 8H22H [ 0.2 0.0 >100 16 2 1 <1 <1 <1
9A25H = 0.3 0.0 50 15 9 2 <1 <1 <1




Ol KEBE=AYLTRAEHE—E
BRI A = EARE e | BT IETE Ba/L
No ki 5 AT AT B A PN73 m BRI BRE |[ERXUEE SS (%JE T a3 TR ES T L 5%

) ™ m cm mS/m mg/L £ [-131 Cs—134 Cs—137
[ — 8H30H ) 0.4 0.0 >100 7 <1 1 <1 1 <1
2 RN Iias—FEdpTH 9190 i 0.4 0.0 >100 10 4l 1 4 4 4
. N 8H29H i 0.5 0.0 100 9 <1 0 <1 §l <1
26 A LS 91190 i 1.0 0.0 >100 16 4l 0 4 4 4
g e 8H28H i 0.3 0.0 >100 9 <1 1 <1 §l <1
21 # BRI KR 9H19H ﬂi 0.4 0.0 >100 9 2 1 &l &l &l
= 8H31H i 0.5 0.0 >100 8 2 1 <1 §l <1
28 7l I T 9H19H & 0.3 0.0 >100 13 2 1 <1 §l <1
29 ool | 8H17H [ 0.6 0.0 >100 1 <1 0 <1 §l <1
/ 9H11H Hﬁ 0.5 0.0 >100 1 <1 0 <1 §l <1
7% 38 e 8H27H i 0.5 0.0 >100 17 <1 1 <1 §l <1
30 Il AL 9190 & 0.4 0.0 5100 17 2 1 a 1 a
31 R [hhta 9H3H E 0.2 0.0 >100 11 <1 0 <1 <1 <1
32 AVER)I | i 9H3H = 0.3 0.0 >100 8 2 1 <1 <1 <1
PR . 8H16H i3 0.5 0.0 >100 1 <1 0 <1 §l <1
33 i KA | PHIEERR (51 H) 9£ 11 E Eﬁ 0.2 0.0 ;100 1 21 1 21 21 <1
- PR 8H 16 5 0.2 0.0 100 1 1 0 1 1 <1
34 1R REI IR ST Of1lE] 05 0.5 0.0 5100 1 2 1 4l 1 a
35 PSRRI [V R4 ST 9HA5H 5 0.4 0.0 31 10 10 2 <1 <1 <1
36 e R () | 9HGH| 0.3 0.0 37 11 9 2 a q] a
37 = FoE IR FLf] il 9H6H = 0.8 0.0 >100 15 2 1 <1 4 <1
K 7H31H [ 0.2 0.0 >100 17 3 1 <1 §l <1
38 ]l i TR 8H23H 5 0.2 0.0 >100 20 <1 1 <1 <1 <1
- 9H26H & 0.3 0.0 53 24 8 1 <1 §l <1
39 H e i TRl [P 9H3H 58 0.6 0.0 40 10 10 1 <1 <1 <1
40| I ARG A0 HET 9/5H 5 0.2 0.0 >100 16 1 1 <1 <1 <1
= 7H31H & 0.3 0.0 93 15 6 2 <1 §l <1
41 5 I KEE ST 8H22H 5 0.3 0.0 >100 15 <1 0 <1 <1 <1
- 9H26H & 0.2 0.0 >100 16 1 0 <1 §l <1
42 e LKUIE 9HTH 5 0.2 0.0 >100 25 <1 0 <1 <1 <1
43 1] GG = JITHT 9H6H = 0.4 0.0 >100 21 1 1 <1 §l <1
44 A /N 9H6H = 0.5 0.0 >100 21 6 1 <1 §l <1
45 || H IS5 ERh 9H5H I 0.3 0.0 94 8 9 1 <1 <1 <1
16 ) G TEHT 9H6H = 0.6 0.0 >100 15 4 1 <1 &l <1
| K| B KEI Rl e 9H5H [ 0.3 0.0 >100 9 <1 0 <1 <1 <1
48 Jit DR NG il 9H5H [ 0.5 0.0 >100 16 3 1 <1 <1 <1
49 7K N HiA T 9H6H 5 0.3 0.0 >100 15 1 0 <1 <1 <1
B 9 1| 7H31H = 0.1 0.0 83 14 2 1 <1 &l <1
50 e Y PN /N 8 23H 5 0.3 0.0 >100 21 1 1 <1 <1 <1
- 9H20H [ 0.3 0.0 >100 15 2 1 <1 &l <1
2 7H30H [ 0.9 0.0 35 21 2 1 <1 &l <1
51 B s [ ELRE )T (B AR 8 23H 5 1.0 0.0 >100 27 2 1 <1 <1 <1
A L 2 AN XN NS Y ST 3 i 3 T 3

3 [, N/ H . .
52 i3 RASEHPTRE LR UK B LT 9H200] 15 0.4 0.0 >100 9 A 0 &l &l &l
53 K B TG A 9H20H = 0.2 0.0 >100 13 2 1 <1 &l <1
54 R L 1| il 9H20H = 0.3 0.0 >100 15 <1 1 <1 <1 <1
55 JI ! V% EL WA fEAR T 9H20H B 0.3 0.0 42 20 4 2 <1 <1 <1
1% K 7H30H i 0.2 0.0 32 20 8 2 1 a <1
56 ik HiDAE AR 8 23H B 0.2 0.0 47 24 5 2 <1 <1 <1
9H20H 5 0.1 0.0 75 29 8 3 <1 &l <1
BB, BN Z AL DRI, I EOHLEZ Bt D Pl i,




Ol EEE=4V JTHRERR—%
BRHL

= mwn | ok | BNE T mmmE T R T P b e (L i
No. P Hi 5 [ PRUBTR R/ I ERUEZES ol v B i

° i t rHiiTRS . _ m cm % PR 1-131 | Cs-134 | Cs-137 &gt
1 - j 8H29H b 0.2 5 90 28 <30 19 23 42
- FRE) 1| f;ﬁgT B2 9£ 18H % 0.6 5 91 Efbﬁ@é <30 34 59 93
T8 9H10H b 0.4 3 90 w <30 28 50 78
3 ﬁfﬁ[tﬁ&“}ll ,%m%ﬁ IRAERT 9H10H E 0.2 3 84 [ <30 63 99 162
4 i)l ki 9H10H I 0.2 2 88 i <30 31 44 75
8HI1H B 0.2 3 93 [ <30 19 25 44
5 n FRE)1| v AR 8H21H g 0.2 3 91 i <30 27 45 72
9H24H ) 0.3 3 90 w <30 43 66 109
6 )1 R ARZEHT 910H i 0.1 5 80 [ <30 45 75 120
7 21 B A - 9H10H i 0.4 5 91 w <30 38 67 105
o SH1H 5 0.4 3 87 b <30 69 120 189
8 S| I & 8H21H i 0.5 4 84 i <30 89 150 239
9ﬁﬁ25 E % 0.6 2 91 D <30 47 92 139
§H1H fii§ 0.2 2 94 [ <30 17 37 54
9 Ea) AREA )11 B 8H22H = 0.1 2 95 b <30 15 19 34
KT 9H25H ,i; 0.2 1 95 | bR <30 42 60 102
SHIH i 0.4 2 93 w <30 40 74 114
10 AT it 822H % 0.3 5 93 [ <30 45 70 115
9H25H ) 0.7 5 93 w <30 21 41 62
11 [TEA] TH)IE 9H4H = 0.4 5 84| b <30 110 160 270
12 LRl BRI 9H4H = 0.5 3 87 i <30 110 180 290
13 I 5 DI j 8H29H fif 0.2 5 87 i <30 34 50 84
3 ARz T 9H18H i 0.3 5 85 w <30 37 61 98
14 5t 9H4H £ 0.6 5 90 | - <30 34 47 81
15 =N peAaic 9H4H = 0.4 3 88 [ <30 30 49 79
K ET 8A1H [ 0.3 2 89 [ <30 21 33 54
16 e g 822H i 0.6 2 90 [ <30 14 20 34
9H25H ,i; 0.2 7 88 w <30 21 31 52
i 8HLH [ 0.2 2 96 i <30 12 18 30
17 7K FARET)| HARE A 822H B 0.3 4 90 [ <30 40 67 107
STl 9/25H = 0.3 1 94 |  Wh-H <30 16 22 38
B TH31LH i 0.5 4 94 [ <30 <10 14 14
18 =) A 822H B 0.1 1 94 [ <30 <10 14 14
, i 9H25H S 0.5 5 93| Hb-R <30 11 23 34
19 )| i HEATH] 9/4H ] 0.5 2 88 [ <30 380 640 1,020
20 HDEE =<Hifi 9H4H 5 0.4 5 87 [ <30 19 25 44
21 = Il [ Raakial KR 9H4H 5 0.3 3 92 [ <30 46 81 127
22 - SR <bif 9H4H 5 0.5 5 91 [ <30 45 69 114
N TH31LH 5 0.5 3 87 [ <30 17 32 49
23 sl M) H A 822H B 0.2 4 88 [ <30 11 19 30
. . 9H25H = 0.6 4 81 i <30 31 53 84

Rz LT = b

i 7H31H i 0.2 3 93 w <30 19 33 52
24 | ERi 822H B 0.2 4 93 [ <30 21 30 51
9/25H = 0.3 3 91 | HWh-# <30 21 37 58




Ol EEE=4V JTHRERR—%
BRHL

i mmn | x| AR mmmE T AR T e L D %
i e HHT K PRIETR AR JUIS AP SRENE i
No. s LR rHiiTRS . - m cm % %Jﬁ =131 Cs-134 | Cs-137 &5
95 || [T —— 8H30H = 0.4 3 92 [ <30 15 21 36
9H19H 81 0.4 2 94 [ <30 27 48 75
96 1| R 829H B 0.5 2 92 [ <30 <10 10 10
9H19H 81 1.0 2 93 [ <30 <10 <10 —
i e 8128 H B 0.3 3 93 | b <30 13 23 36
21 " TR AL 9£ 19H i 0.4 4 94 E? <30 <10 18 18
P e 8H31H b 0.5 4 89 [ <30 310 490 800
28 ) R MR e 9H19H = 0.3 4 92 [ <30 290 490 780
”9 Al rm— o Rt SH17H B 0.6 3 90 i 230 58 88 146
e ’ gﬁ ; E E 82 3 87 % <30 43 70 113
30 #®” o - B . 3 73 W <30 21 42 63
9H19H = 0.4 6 70 [ <30 19 41 60
31 NI G 9H3H = 0.2 2 92 | Hb-pE <30 11 26 37
32 AP B 9; 3H = 0.3 2 94 8 <30 95 150 245
P gt 8H16H S 0.5 2 92 [ <30 11 13 24
T o e L e
7% - e b . i - 1) 18 29
34] 1 R e ST 9H11H i 0.5 3 84 [ <30 41 68 109
35 P A1 PR T 9H5H B 0.4 3 93 8 <30 28 37 65
36 | R Hf (EFEF) 9H5H 5 0.3 3 90 [ <30 11 13 24
37 - KibRIE B[] 77 9H6H = 0.8 3 85 i <30 13 17 30
7K TH31LH 5 0.2 3 91 [ <30 22 34 56
38 awlll K TR 8H23H i 0.2 5 92 w <30 25 37 62
_ 9H26H i 0.3 2 91 | Hb-pE <30 22 36 58
39 Sl B T2 AT il At 9H3H rH 0.6 5 74 i <30 680 1,100 1,780
40| J1l AFHH 9H5H 5 0.2 5 88 [ <30 31 62 93
% ] TH31H i 0.3 2 89 [ <30 42 62 104
41 5 )1l KEHE S T 8H22H i 0.3 1 92 w <30 11 17 28
9H26H i 0.2 4 91 | Hb-pE <30 37 64 101
42 e KLUNE 9HTH & 0.2 3 92 [E7 <30 28 50 78
43 1] W]Vt = =JITHT 9H6H = 0.4 1 83 [E7 <30 35 66 101
44 A /L 9H6H = 0.5 3 89 [E2 <30 50 78 128
45 || HISH ¥ T 9H5H i 0.3 3 88 w <30 19 27 46
46 G TAEHT 9H6H = 0.6 3 90 7 <30 12 20 32
a7 K| A K] A [P 950 i 0.3 3 92  w <30 <10 <10 —
18 ) N /N e 9150 & 0.5 4 93 W 330 26 39 65
49 K i B AT 9H6H 5 0.3 3 79 w <30 25 54 79
B B |my R 0.1 2 2] e <30 39 67 106
50 = AKRNE AN 8H23H i 0.3 3 91 w <30 11 16 27
i R 05 : FAmESS a8 )
H . s~
51 B TR | BT AR WiATH 8H23H E 1.0 5 9] ~Fo <30 40 49 89
% | 9H20H i 0.7 5 90 [ <30 12 22 34
o e o 8H24H i 0.2 5 91 [ <30 13 25 38
b2 e RASERPTI R | AT 9/20H i 0.4 5 w2l W <30 16 39 55
53 P B TG P 9H20H = 0.2 3 84 [ <30 30 50 80
54 W e EL3E)1| g 9H20H = 0.3 6 92 [ <30 <10 22 22
55 JI RSN fig AR TT 9H20H i 0.3 4 86 w <30 24 43 67
fik K } TH30H i 0.2 3 82 i <30 51 76 127
56 ik ek WiATH 8H23H i 0.2 5 92 w <30 17 29 46
9H20H i 0.1 4 93| Hb-pE <30 17 28 45

BRI A, A 2L SR IS EOHR A L3RS TR AT #,




OFlll BIBEE=—4J TRE—%

PRI TR - /e TR & /e
wme | FE ‘ <[ Ba/kg(fe ZE R \ PRV EURES Ba/kg (2 ZE R
No K4, i TRETA PR TR S AN B Sv/h (27N TR FOR ST ) Sv/h
: ” - -131 Cs-134 | Cs-137 &t ® ' - -131 Cs-134 | Cs-137 &t "

1 P o 9H18H = — — — — — — q‘g -ﬁjgf? <30 490 830 1,320 0.17 [

HRE)1| B 8H29H fifE — — — — 0.18 [RVE - fiE <30 680 1,100 1,780 0.15

2 JEGE 9HI10H B <30 3,500 5,700 9,200 0.32 | B <30 960 1,600 2,560 0.27

3 [ AER) 1] e RERS AR ARZEIT 9H10H 5 <30 2,100 3,500 5,600 0.29 | HE <30 1,100 1,800 2,900 0.33

4 Bl GG - 9HI10H [ <30 2,300 3,600 5,900 0.34 | HE <30 2,400 3,800 6,200 0.34

AT - SHI1H 5 <120 13,000 19,000 32,000 0.41 [ HE <30 1,400 2,100 3,500 0.28

5 s HRE)I| R A FE T 8H21H 5 <30 1,600 2,600 4,200 0.37 | B <30 650 1,000 1,650 0.28

s 9H24H = <30 1,400 2,300 3,700 0.38 | HE <30 750 1,300 2,050 0.26

6 R iR AT 9H10H fiF <30 3,500 5,700 9,200 0.52 |  HE <30 2,800 4,700 7,500 0.32

7 ESII B A - 9HI10H [ 31 5,000 8,100 13,100 0.55 % <30 2,000 3,200 5,200 0.40

SHIH E <30 1,600 2,700 4,300 0.28 e <30 800 1,300 2,100 0.55

8 ESil IS 8H21H Hg <30 1,400 2,200 3,600 0.29 EYEN <30 3,000 4,800 7,800 0.52

9H25H <30 38 130 218 0.18 | HE <30 2,200 3,700 5,900 0.60

8HI1H [ <30 500 780 1,280 0.18 | B <30 330 530 860 0.14

9 i HeE)1| 2 8H22H = <30 650 1,000 1,650 0.24 | HUE <30 650 1,000 1,650 0.14

K JET 9H25H =) <30 510 880 1,390 0.19 | HE <30 460 750 1,210 0.13

8HI1H i <30 290 440 730 0.16 | = <30 210 350 560 0.16

10 FABENI ERI 8H22H = <30 320 520 840 0.16 BT <30 660 1,100 1,760 0.19

9H25H = <30 590 920 1,510 0.15 | HE <30 520 880 1,400 0.21

11 [TREA ) 9H4H = <30 1,000 1,700 2,700 0.13 JE <30 72 120 192 0.12

12 BRI AP 9H4H = <30 580 990 1,570 0.20 % <30 390 630 1,020 0.15

13 i S DI 8H29H & <30 570 970 1,540 0.23 [HE - Wb <30 650 1,100 1,750 0.19

: g AR 9H18H 55 <30 870 1,500 2,370 0.19] B+ <30 940 1,600 2,540 0.21

14 S 9H4H = <38 4,000 6,700 10,700 0.86 | HET <30 2,100 3,300 5,400 0.86

15 Gl H G 9H4H = <30 470 760 1,230 0.15 | HE <30 1,100 1,800 2,900 0.17

e BT 8HI1H [ <30 460 710 1,170 0.12 | B <30 190 290 480 0.13

16 Gk g 8H22H u%% <30 370 550 920 0.12 tg;g <30 270 420 690 0.13

9H25H 2 <30 310 490 800 0.13 | B <30 260 430 690 0.13

SHI1H [ <30 330 520 850 0.09 | HH <30 120 190 310 0.11

17 7K Az A0 E A 8H22H [ <30 280 440 720 0.09 BT <30 260 410 670 0.11

R E) WY 9H25H = <30 97 160 257 0.10 | HE <30 150 240 390 0.11

7TH31H [ <30 220 330 550 0.12 | B <30 83 140 223 0.11

18 sl BN 8H22H i <30 120 200 320 0.12 | HIE <30 92 150 242 0.11

9H25H =) <30 210 330 540 0.12 | B <30 160 290 450 0.10

19 )| i AT 9H4H i <30 660 1,100 1,760 0.18 | &g <30 290 460 750 0.17

20 i HY T Kb 9H4H 5 <30 200 340 540 0.10 | HET - T <30 320 490 810 0.09

21 = Il H S Mt 9H4H 5 <30 620 990 1,610 0.18 | e - e <30 1,300 2,100 3,400 0.17

22 " JikE Kb 9H4H 5 <30 220 360 580 0.11 | Fo#%ET - HeET <30 390 600 990 0.10

TH31H 35 <30 57 85 142 0.09 | HIE <30 130 220 350 0.09

23 el ] FH AR 8H22H B <30 150 250 400 0.09 | B <30 90 140 230 0.08

WE ST 9H25H = <30 130 210 340 0.10 | HE <30 150 270 420 0.08

e 7TH31H B <30 210 340 550 0.09 | B <30 94 150 244 0.08

24 ]l A 8H22H 5 <30 200 310 510 0.09 | HE <30 120 200 320 0.09

9H25H = <30 130 240 370 0.09 | HE <30 130 230 360 0.08




OFlll BIBEE=—4J TRE—%

R I . AUE -
ELHELH T " SV R Bq/kg(s&’i) Z R . SV R Bq/kg(!ﬁ) 7 R fis
No. K4, i TRETA (KN T EaD % s T 2 . 12 Sv/h (27N T Ea D % s T 2 ) Sv/h
o - 1—131@0 Cs—134470 Cﬂ%o /E'\fgso . — =131 Cs-134 | Cs-137 &t “

95 1| [T — 8H: &= : 5 .21 E <30 870 1,300 2,170 0.19
9H19H 5] <30 780 1,300 2,080 0.20 | HE <30 1,300 2,100 3,400 0.20
% 1| ARG 8H29H i <30 190 320 510 0.10 | HE <30 280 480 760 0.14
" 9H19H 5] <30 1,200 2,000 3,200 0.13 ] BHEL <30 74 140 214 0.10
21 N L SR 1] B B | BRI T ) 1) 61 RO
551 p . > 5 5 1,350 0.25
98 s 1| Ml 8H3IH i <30 980 1,600 2,580 0.23 ] HEF <30 440 730 1,170 0.27
£ H il 9H19H Eﬁ <30 600 1,000 1,600 0.26 | HE <30 610 1,100 1,710 0.25
29 Lol Fif 8HI7TH [ <30 740 1,100 1,840 0.30 | #wE <30 37 56 93 0.11
9H11H [ <30 1,400 2,300 3,700 0.32 | HE <30 870 1,400 2,270 0.29

30 B Bl - 8H27H [ <30 29 56 85 0.11 — — — — — — | BRI TE S

9H19H = <30 110 180 290 0.09 — — — — — — [ LRI CET
31 AB) 1 9A3H] = <30 390 640 1,030 0.18 [HiFL- e I- <30 1,100 1,800 2,900 0.16
32 IR i s} 3H % <30 660 1,100 1,760 0.26 |5V - gt <30 1,900 3,100 5,000 0.23
] P . 41H 8H16H <30 370 590 960 0.22 | ®WH <30 10 15 25 0.10
33 I o PHIEE i (£111) g; %ég i 2?38 1,200 1,900 3,100 0.24 I;%g <30 1,300 2,100 3,400 0.25
o P B : 710 1,100 1,810 0.21 <30 910 1,400 2,310 0.21
34 # B st AT 9H11H A <30 580 970 1,550 0.23 | HE <30 1,500 2,400 3,900 0.21
35 PESRA 75 2 [ S 9H5H 5 <30 62 120 182 0.09 | BT - E <30 210 340 550 0.09
36 21| BRI (ERER) - 9H5H i <30 88 160 248 0.08 | FET - <30 230 380 610 0.12
37 - B RAE [ 9A6H &= [ <30 96 180 276 0.09 | #E <30 23 44 67 0.08
7K ] ] 7H31H i =g <30 200 300 500 0.10 | HE <30 130 200 330 0.11
38 ]l Kt TEPT 8H23H Ei o <30 79 120 199 0.10 | Y <30 130 230 360 0.09
___ 9H26H 5 HE <30 94 170 264 0.10 | HE <30 100 170 270 0.10

i I 7 e LI 3 e e e a1 B e e S

X i RO B R R . 98 - 5 1,390 0.13
% § 7H31A 5 [ <30 150 250 400 0.07 | HBE <30 150 210 360 0.09
41 - I PN L] el 8H22H [ =g <30 78 120 198 0.07 | HE <30 170 300 470 0.10
9H26H Ei A <30 130 200 330 0.08 | HE <30 760 1,200 1,960 0.07
42 B3N S<LIE 9HT7H i =g <30 120 200 320 0.09 | H&E <30 800 1,400 2,200 0.09
43 )1l e L —JIHy 9A6H[ & |EEP-HERT <30 210 330 540 0.08 [FEPT- BT <30 110 170 280 0.08
44 G /LT 9H6H [} B - <30 140 230 370 0.09 | FE -1 <30 75 130 205 0.06
45 )| H i SR T 9H50H [ AT <30 120 220 340 0.09 |8 - HEET <30 300 460 760 0.11
46 x| A T/ERT 9H6H 2 R <30 110 180 290 0.07 [ BT - <30 15 23 38 0.10
47 i3 B KE KA AT 9H5H it P - R <30 160 290 450 0.11 | FE <30 250 400 650 0.11
48 JI NI s 9A5H [ -5 <30 180 280 460 0.09 [mer-sisk L 30 180 310 490 0.09
49 s Vi P BEA T 9H6H 55 B - R <30 290 480 770 0.10 [HET - BEET <30 170 260 430 0.09
B gy 7H31H T B <30 270 460 730 0.12 | HIE <30 190 310 500 0.11
50 = [N PN+ NI 8H23H 5 2 <30 290 500 790 0.14 R <30 310 490 800 0.10
o 9H20H i <30 290 510 800 0.12 [ HE <30 97 170 267 0.09
! ] ] . 7H30H 5 <30 130 210 340 0.11] =& <30 120 190 310 0.10
51 E ks | EL3 )1 L A LENI 8H23H 5 <30 150 240 390 0.12 | HE <30 300 450 750 0.10
% | gﬁ ggg ﬁ <30 100 170 270 0.11 Jfg <30 160 260 420 0.09
. - [ P p B <30 130 220 350 021] <30 58 87 145 0.24
52 e RABUF AR 1A B S 9A20H] Ik 30 280 180 60 0.23| W <30 37 60 97 0.19
53 K R’ TEFAE A 9H20H = <30 43 79 122 0.07 | HE <30 220 380 600 0.10
54 b e ELEI i 9H20H = <30 220 330 550 0.08 | HE <30 110 210 320 0.09
55 JI e 1 LKA FEAR T 9H20H 5 <30 120 200 320 0.09 | & <30 260 380 640 0.09
i i . 7H30[ 5 <30 90 160 250 0.10 | H& <30 120 180 300 0.11
56 i HBE WA 8H23H 5 : <30 180 290 470 0.10 | HE <30 130 230 360 0.10
9H20H i Y <30 160 270 430 0.09 | HE <30 220 330 550 0.10

H =N
IR, B2 B AT A VRSO — A A—ZTCS-1TLEZIITCS- 1722 W THIE L 72,
BRI, A& b BRI, 1 Z LD M Bifis MR,




OMiB-KiEH KBE=S) THER—E
PRI

B AKTE — WO ERIE Ba/L
No i BREA | KR o[ BRKEE T EBIE [EREEE] S W |patrtavR] TR T A iz
T m m mS/m mg/L JE 1-131 Cs—134 | Cs-137
e 8HA29H| 16.8 0.5 0.6 11 <1 1 <1 <1 <1
1 VR ARk Wi HE 15.8 8 <1 1 <1 <1 <1
ZE | 0g3p| = 96.0 0.5 07 10 3 2 <1 <1 <1
HRE)| NE] - : 25.0 : 10 4 3 <1 <1 <1
b -
K% < JE 830 H W 177 0.5 0.6 20 1 1 <1 <1 <1
9 R AR Wi HE 16.7 20 10 7 <1 <1 <1
ZE | 0g3p| = 19.7 0.5 0.3 10 11 10 <1 <1 <1
INE] - : 18.7 : 14 5 2 <1 <1 <1
e 8HA30H| 60.2 0.5 10 8 <1 1 <1 <1 <1
3 T84 LA Wi HE 59.2 6 60 10 <1 <1 <1
) ZE | 0g4p| = 770 0.5 01 7 2 1 < <1 <1
INE] - : 76.0 : 7 13 20 <1 <1 <1
e wnan] w | sl s
4 b AR LKL | W0 e -
e w0H40| 58,1 0.5 33 7 <1 0 <1 <1 <1
INE] " : 57.1 : 8 2 2 <1 <1 <1
g B PN EQT - 0.5 11 <1 0 <1 <1 <1
5 I JIHRS Ik L i 10B5H]| 69.8 88 4.5 7 77 5 < il <
e 8H2TH| 12.4 0.5 9.9 14 <1 1 <1 <1 <1
6| A | B/ e bl g0 BT —ar—ar—a
=5 10H208 | 2Mxim|  12.2 W 2.3 0 1 1 3 a gl
% e 8H%SH| 170.0 0.5 9.3 10 <1 0 <1 <1 <1
7 7R R 1] Wt e 169.0 11 <1 1 <1 <1 <1
ZE | og1sp| = 169.0 0.5 9.9 11 <1 1 <1 <1 <1
INE] - : 168.0 : 12 <1 1 <1 <1 <1
e | PR s B | 22— os g
8 [MERMEII| U BWEHT A WL 2T onon - - G ” 55 B : 1 1 1
INE] - : 2.3 : 20 21 6 <1 <1 <1
OB - KiEh EE - BDRE GIE) E=4YYH#R—E
B JEE JE0 57 BE (W)
PRI ; LA — s HOHHEAERIE Ba/ks (H10) S :
?}%B‘y H 3{{% m B ~ mg—f’lﬁ:qé/)ﬁ I~ E Bq/kg(%) WF&E%@% ﬁ%'z.'
No Hh A BIRR | BUEH | g [PHEEIE T T L [ NI TS SR L S/h
o cm % =131 | Cs-134 | Cs-137 | &Ff -131 | Cs-134 | Cs-137 | &EF .
T N B s | 8H29H| I 16.8 10 48 v <30 310 540 850 M <30 930 1,400 2,330 0.16
UL gy | PRIDS AKHL WO s 26.0 10 59| b 330 <10 11 1| &g <30 360 560 920 0.15
5 | AR B IRk Wi SA30H] HF 17.7 10 53| T <30 340 560 900 B <30 1,800 2,900 4,700 0.54
N 10A3H] & 19.7 7 48 v <30 380 620 1,000( EE <30 1,800 2,900 4,700 0.56
3 S84 A Wi SA30H] HF 60.2 15 54| T <30 260 430 690|[ e - R <30 830 1,400 2,230 0.36
" N 10H4H] & 77.0 10 53| v <30 280 470 750(HEE - SR <30 830 1,400 2,230 0.31
. NN s | 8H3LH| I 57.3 10 54| T <30 1,600 2,500 4,100 BE <30 640 1,000 1,640 0.27
4 | S L 10H4H] #F 58.1 10 50 | v <30 1,200 2,100 3,300|[ 58 - Y& <30 730 1,200 1,930 0.25
5 7};}4 JIREA L Hr K W 10H5H] W 69.8 10 50 | v <30 70 120 190|598 - R <30 31 63 94 0.08
6 n 5 W 82T H] W 12.4 5 29 T <30 100 170 270 BE <30 330 530 860 0.12
10H 20 [&/x 1w 12.2 10 25 | v <30 <10 28 28| HE <30 360 600 960 0.11
. —— Wiy 8128 Hl W 170.0 15 23 T <30 460 720 1,180] e <30 830 1,300 2,130 0.15
10H18H] 4% 169.0 10 26 i <30 300 530 830 HEE <30 280 460 740 0.14
o SHIH| & 2 2 15 53| T h <30 65 100 165 EE <30 130 180 310 0.09
8 | BEEMRIT| IR el WYz 6 60| Lk <30 50 84 134 HE 30 120 200 320 0.10
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